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Attempt any SIX parts: Vi o ) :é'd'r'l":‘-c—y
1t 0= [_}] then find kil _@rr;,-u.['g' wB=[ 14 ©
Fiodproduce I J][ 0] nalg] it @
Find the values of x and v 5+ {y | L= g3 f b rTedd _#*I-F,_,_F‘-?J yox (30}
Simplify: () 4a? : et A
Find the value ol x = 1oggyn= _EI_: lnggy K= _—f -{',;-:__,.r fx (9
Calculmte:  bogg 2xlog, 41 g 2xlne; 81 cgEpmisd (Vi)
Simglif: M43y 0 addlds  EA i
Simplify: iﬁ ’_’ﬂ %“h:;ﬂ LA (i)
Factorize: %2 ~21x+108 sloamslos ZEgd (X
Attempt any SIX parts: #L,Hl?ifﬁ'-illr
Une factorization to find squure rool of 4% —12x =9 43 12x+0 2E rﬂ-‘ﬂﬂ'f%r&,uéu £203
Solve the inequalities; 43 -103=20x ~1:H dp-03 =2k -1H #‘uﬁ‘;;.,kg (i)
Define strict inequalities, . b AU (i)
Write the given equation in the farm of y = ma | ¢! d-duty=0 e p Ay mx + ¢ LetiafS Gy
Define Cartesian planc. A A )
Find the distance betwern two polntsi . A T 1, BIA-3) A4, 7)) B4 -n) il bdn  (vi)
Define scalene triangle, S AL ea (i)
What is mcant by (855.=585) 7 Tl e (WL 2D (i)
T Eepadlnome o AFSS
f:; ’ ::Z'n Find the unknown valwes of x*, ¥*, m® n"in the pivén fgore:
.w;ﬂ! SIX parts: én.ﬂ'lhfa-ﬂf
] 8 ‘é'fﬂ"'t-‘fj X Lt LNO 4 LMO E_l['.b.ﬁ?ﬂf, (i3

In the given congruent trisngles LMO and LND, find unknown x ;

'#l""'u'lﬁ-ug‘ -HU@UEHJEJ Mfﬁ_ﬂg‘r Tem o dam « Iom (i)
Jom, dem and 7om are not the lengths of the trlangle. Give reason,
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In isosceles trinigle POR showrt In the gure: Find the yalie ol & il y

% Ao
F*ndthuunknmwlunmhngzwuhgum ol e A "NJJ (v

Jem Jem

-yl L-'L;le &l fn'}l".ﬁ.r e 2 Sum i b Zem o p= | Sem f#. LJ'AI-" vl
Verify that a = | em, b= Jem, ¢~ = ] 5¢m umuldm ol & vight tringle.

Define height of the parallelogram &b A LA LA (vi)

Styte congruent e Axiom. - p'ngl-'f'y‘f"{Lf"FerFﬂ' (vit)

Construct triangle XYZ in which: TV = S AN =d.5em |, mAd=H0" e e XY 7 a5 (i)

Diefine point of concumensy. = ui.‘z‘ﬂ'.f-ﬁ'-:'fﬂ ()

-y *J""} Jly -.l,,"';"r 08 L - {F{fmblfﬁ..rl“r‘l,;-;..wr f.S_,JA...-:- J
Part - I, Auempi any THREE questions. Facl question carries O8 marks, Ouestion No, 918 compulnory
Solve by using the Cramer's rule: o 4 gg._.,g - |.1;_ e b il AS (A} =f
P (IRt i i qrr i ;

Simplify: [':—q] - LEuT] + 5(ar -u‘)F S T o= A ()
438)'0.056 (438)'v0.050 () .6

Use logarithm to find the value of: i—&w— _ﬁgﬁr—‘ '-'-'rrl-"'_..ﬁ;_ uJ(vﬂ )

gEppaadd wt -y hexy =21 x-y=4 ()
Ifx—y=4 and xy =21 then find the value of 13—'&3

Factotize by factor theorem: X = X° =22 440 Oyt 2 22% 4 40 gL § e safie () 7
FindthaH.C.F.b}*divisiunmethud: 2% 4t =%, X HX - 3x0 -3 ig.{(r""‘f‘iﬁ;krﬁf.f.r} L gt

1 2 1
Solver ;{+-j-=2(;—--i]—-ﬁ:{ X —-zlh’."-—) ~{n g’gLf {JF} "

é}r...n-'l.u»fé’.'. GBI aieb ABC 24 (o)
Constriset the triangle ABC and draw the perpandmulut hisectors of its sides:

mAB =2.4em | mAC =3.2¢m , mLA=120°
.wh,xhﬁ_wtﬁugsuéwﬁ@iau -9

Prove that the bisectors of the angles of a triangle are concurrent,
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Prove that parallelograms on equal bases and hwmg same l‘,nr eqqual) altitudes are equal in area,
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